Computer Science and Applications
PAPER~II

Note : This paper contains fifty (50) objective-type guestions, each gquestion carrying
two {2 marks. Attempt all of thern

1. Tis a graph with n vertices. T is connected and has exactly n-1 edges, then :
(A Tis atree

(By T contains no cycles
{Cy Ewvery pairs of vertices in T is conmected by exactly one path 0

(D% All of these

2. If the proposition YFP = () is true, then the truth value of @ o D%DI‘L TPV =)

{AYy True (By Muld - Valu
{Cy  Flase (¥ Can ined

3.  Let & and B be two arbitrary events,
(4) P(ANE) = P(A)  (B)
(Cy TP{AE) = P{A) +T (B} }

UB) = P(A) +F (B)
(A/B) = P(ANE) +P (B)

4. Which sentence can be by S d/bA, A d/cch

(A} becddd (®c (C) ababecd (D} abbbd

ior, @+ b denotes the set :
v e a bl {Cy {a b} {I¥  MNone of these

5. Regulare
(a)

e following 1s divisible by 4 7
OOT01T 00 (By 1110001110001
11110011 (O 10101010101010

T. A halfadder is also knowr as
(A} AND Circuit (By NAND Circuit
{(C} NOR Circuit (I EX-OR Circuit
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8.  Consider the following sequence of Instructions :
a=a@hb b=asb a=boa This Sequence
{A) retains the value of the a and b
{(BY complements the value of a and b
{Cy swapaandb
(I}  negates values of a and b

9.  Consider the following crcuit :
T O

y— 1?2 @ .

to make it a Tautology the IZI should be :

(A} NAND gate (B} AND gate % {D}  EX-OR gate
10. When an inventor is placed between both irifuts o S-R flip flop, the resulting flip

flop is -
(A K flip-flop ip-flop
{Cy T flip-flop one of these
11. What is the output of o C-program main 3 :
fprint £{"%d%d%d, of (3.14f}, size of (3.14), size of (3.141%);]
(A) 444 4810 {Cy 848 Dy 888
¢
12. 35 with 7 in C will be :
(By 7 (Cy 42 (D 39

ernbers and mermnber function of a class by default is repectively :
private and public (B} public

{Cy  public and private (I private

14. Function over loading done at -
{AY Runtime (B} Compile time
() Linking thne (I Switching from furncton o furction
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15. What will be the value of { for the following expression :

inti=11, i=3 ;
i+ ={F>3 71 & 25 ;
(ay 2 (B} 5 (Cy 13 (o 12

146, A schema describes -

{AY  data elements (B} records and files
{Cy  record relationship (D) all of the above :
17. Omne approach to standarolizing storing of data -

(A) MIS (B) CODASYL ()

(Cy Structured Programming (¥  MNone of the abnve@ ¢

18. In a relational schema, each tuple is divided in ﬁelds%
(A} Relations (B} Domains & (D All the above

{
19. An emnbedded printer provides : &

{AY Physical record key irerted Index

{Cy A secorclary access path the above
20. A locked file can be : @
T

(A}  accessed by o
(BY muodified by
{Cy  is used @ hide sensitive Imnforznation

(D)

&

th the correct possword

Inary search tree (B} AVL -tree
Threaded binary tree (I Complete tree

22, A hash function f defined as ffkeyh=key mod 7, with linear probing it is used to insert
the key 3738,72 48 98,11 ,56 into a table Index from 0 to 6. What will be the locations
of 11 :

&) 3 ® 4 © 5 D) 6
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23. Consider the graph, which of the following is a valid topological sorting ?

(A} ABCD (B} BACD (Cy BADC (DY AB
24. Theinitial configuration of quaue is a, b, ¢ d. 'a" is at the front. To get thr ot
d, ¢, b, a how many deletions and additions required :
(AY 2 deletions, 3 additions {BY 3 deletions, 2 addjﬁng
{Cy 3 deletions, 4 additions (I 3 deletions, 3 additio
@
25. Which traversal techrdques lists the nodes of a binary n ascending order ?
{AY  post-order (BY in- DIZC
{Cy  pre- order (O H D

ed a

26. The data unit in the TCP/IP application Layr is i
{AY  Inessage (B} sepment datagram (s frame

27. Which of following file retriev use hypermedia ?
() HIML (C) WAIS (DY HITP

(B}
28. Which of following j #& of a client - server model :
(A DNS T {Cy TELNET {(T%  All the above

Z9,

id@pa method to recover data that has been delivered but not get

Hon (B} Concatenation
lation (I Synchronization

cryption and decryption are the functions of the ____ layer of OS] model :
transport {(BY session {Cy  router (I presentation

31. The Register or main memory location which contains the effective address of the
operand is knowr as ¢

{AY  Pointer {BY Indexed register
{C} Special Locations (DY Scratch Pad
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22,

33,

34,

35,

36,

37

35,

39,

41.

A Top - down Parse generates
{A) Left most derivation {BY Right - rnost derivation
{Cy  Right - most derivation In reverse (D Left - most derivation in reverse

A general macroprocessor is an in built furnction of :
(A} Loader {BY Linker {Cy  Editor (D Assernbler

Which of the following is not collision Resolution Technigque :
{AY  Hash addressing (B} Chainning

{Cy  Indexing {0y None of these O
Which activities is not included in the first pass of two pass aaseml@

(Y build the symnbol @ble
(B} cornstruct the termediate code VS
{C}  separate mermnonic opcode and operand field.

{I%  none of these O

Producer consurner problern can be solved using -

(A} semaphores {Big\ev: unters
{C}  rnonitors the above

If you want to execute more than profrarn at a time, the systerms software that are
used must be capable of

{AY  word processing (BYy virtual memory

{Cy  cormpiling ! (D% multitasking

Which of the follo cannot be carried out on the input data to a systemn 7
{AY  Consistency k (B} Syntax check

{Cy  Range . (T All the above

ocedures are called -
able procedure {(BY Concurrent procedure
trant procedure (I Topdown procedure

etr’s algorithm is used for ____ purpose :
(A Deadlock avoidance (B} Dreadlock rernoval
{Cy  Dreadlock prevention (I Deadlock continmations

The testing of software against SRS is called -
(A)  Acceptance testing (BYy Integration testing
{Cy  Regression testing (I} Series testing
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4z,

43,

44.

45,

46,

47,

48,

49,

The lower degree of cohesion is :
{AY  logical cohesion (B} coincidential cohesion

{Cy  procedural cohesion (I cormrnunicational cohesion

The Reliability of the software is directly dependent uporn :
(AY  Quality of the design (B} TPrograrnmer’s experience
{3 Number of error (I Set of user requirermnerts

Succesive layer of design in software using but tor-up desien is called - O

{AY  Layer of Definement (B} Layer of Construction
{C} Layer of abstraction {I¥y  None of the above ‘ '
Sliding window concept of software project management j ®

{AY  Preperation of comprehenciable plan
{BY Preperation of the various stages of develnpmeg
{Cy  Ad-hoc planning %

(I} Reqguirement analysis x
Which of the following transonission i d in Blue tooth Technology :

{AY  ITtadio links icrowave links

{Cy  VSAT Corrnurnication @ Fiber - optic

Which of the following s alEDI dard ?

(A} ANSI X15 ST X.14 {Cy  ANSI X.13 (DY ANSI X.12
Analysis of lagre da to retrive information is called :

(A} OL ¢ By OLAP (Cy OLDP (DY TLPP
network is usually determined by -

complexity (B} Switching complexity

ircuit cornplexity {I¥  MNone of these

The mechardam with which several uses can share a medium without interference is :
{AY  Freguency modulation (B} Amplitude modulation
{Ch  Wultiplexing {(D¥y  MNone of these

-olo-
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